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1. 6x% —23x + 20

2. 288a* — 242

3. a®+6a*+12a+8

4, a®>—-3a*+3a—-1

5. 3a’x? — 5abxy — 2b%y?

6. a®+3a*+3a+2

7. 4a* + 4ac + 9b* + 6bc + 12ab + c?
8. 8a*® + 27b% + 18abc — ¢3

9. 3 +y3+3xy—1

10, (x— 1)+ (x—2)>+(3—2x)3
11. 75a® + 180ab + 108b?

12. (a —b)x? + 2(b — a)xy + ay? — by?

13. 9a% —12ab — 12a + 8b + 4b% + 4
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24,
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28.

a’? +b%+c*+2ab+2ac+2bc+4a+4b+4c+ 4

a* —21a®b? + 36b*

a* + 3ab? + 36b*

6x% — 25x + 26

3x2 +7x — 6

5x%2 +18x + 9

abx? — (a* + bHx + a3b3

mx?+4mx +x +4m+2

3x° +(a—5)x —2a®>+5a—2

x3 —4x?% — 21x

x* + 6x%2 - 40

(x? —x)2 —4(x* —x) — 12

(2x?2 —=3x+ 12 +4x? —6x—1

x3—2x2—-5x+6

x3+2x%2 —-3x—-10
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34.

35.

36.

37.

38.

39.

40,

41.

42,

43,

4a* +1

2x* +3x3 —16x2 +3x+2

(x—2)(x—1D(x+3)(x+4)—84

16(8x + 7)*(4x +3)(x + 1) — 72

(1-2x)3+(Bx+2)3—(x+3)3

(2 +x+ D> +x+2)—12

(x> +3x +2)(4x*> +8x +3) — 90

(a+ b3+ (c—-b)23—-(a+tc)?

6x* +7x3 —36x%2 —-7x+6

x2 —3xy —10y®> +x + 9y — 2

xy+y*+x—y—2

(x+2)(x+D(x+3)(x+4)—24

(x+2)(x+ D(x +3)(x + 6) —3x2

X +x+1

6x% — 13xy + 6y% + 22x — 23y + 20
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49,
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54,

55.

56.

57.

58.

X" x4 41

(x% + 4x + 8)% + 3x(x? + 4x + 8) + 2x?

2x%2+ 7xy +3y* =5y —2

(x+D*+ (x?=-1)%+ (x—-1D*

3+ QRa+1Dx*+ (@ +2a—1x+a%>-1

By -2)+yz-x)+23(x—-y)

a* + b* + c* — 2a?b? — 2b%c? — 2a

alb—ab®+a’>+b%*+1

(x+5)*+ (x+3)*—82

2C2

(x* —4x? + D(x* +3x2 + 1) + 10x*

5x%2 — 19xy + 12y? — 6x + 18y

6xy + 15y% + 10x + 22y — 5

9x? — 4y% + 12x — 20y — 21

35x% 4+ 15xy — 52x — 18y + 12

X

3

—ax®—-2ax+a* -1
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65.
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x3+ (1 —a)x? —2ax + a?

12x* — 56x3 + 89x2% — 56x + 12

(2x? =3x+ 1?4+ 4x> —6x—1

2x% —x3 —15x2 —4x + 12

3x%* + 5x3 — 25x% + 10x — 8

x*+3x3 -3x2—-7x+6

4x* +12x3 —19x2% — 42x + 45

2x3 + 7x%y + 2xy? — 3y3

6x3 — 11x%y — 3xy? + 2y3

al+(c—b¥P+(b-c-a)d

2a% — ab — 6b%® — 8bc — 3ac — 2c?

a’b? — 4ab? + 4b*

2a’(3a—b) —2(3a—b) —3a(3a - b)

2a® + 2a%c — 3a?b — 3abc + ab? + b%c

a® + 4b% + ¢ — 4ab + 2ac — 4bc
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87-
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—a? —9p*
36

%az — 3ab + 3b?

5 5 5 5.9
s@ ~pab— b

9a% + 4b% + ¢? — 12ab + 6ac — 4bc
27a% — 64b3

125b° + ¢3

8a® + 27b3% + ¢3 — 18abc

55a% — 4ab — 3b?

216x3 — y°

(x+y)*+x* +y*

x* + 4

A+y)? —2x2(1+y?) +x*(1 —y)?
2a’b? + 2a%c? + 2b%*c? —a* — b* — ¢*

yiy+ D%+ 1) +x2y* +2y+1)
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6a% —ab — b®> — 5bc — 6>

§a3 —4a’b + 2ab? — §b3

(b—c)®+(c—a)®+ (a—b)?
—m3n3 + 64

x®+7x3 -8

a® —2a3b3 + b®

9a* — 2b — b* — 6a
x?+x8+x3-3
(x+y)x-y)+4(y—-1)

4x* + 6x%y — 9y* — 9y3

100, (x%2 +x)%? —14(x? +x) + 24

101, (x3 +x2+x+1)%2 —x3
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111,
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113.

114,

115,

116.

5x% +3x3 —24x* - 3x+5

a®+a+68

x¥+2x3 —2x%2 —6x—3

(XZ + y2)3 + (ZZ _ x2)3 _ (yZ + 22)3

3m2n? — 10 + n? — 30m?

(m? — Dx? — 2mx — (m? — 4)

(a—b)?+2(a—b) + (a®> — b*)c + (ac + 1)(bc + 1)

3x*+5x3 —x2—x—6

abc? + 2a3c + ab?c + 3a*c + abc + 2a* +ab — b%>+5a + 2b + 3

(x> —x)% + (x? +3x + 2)% — 4(x%? + x + 1)?

nn+4)(n+2)(n—2)+12

(2a — 3b)3 + (4a — 3b)® — 216(a — b)?

(x+2)(x +3)(x + 8)(x + 12) — 4x?

6x+7?*Bx+4)(x+1) -6

10(x — 1)(2x — 1) (Bx + 1)(6x — 1) — 960x*
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131.

x5 —x*—3x2+x+2

2x3 —3x% 4+3x—-1

3x3 +x% —5x+2

2x° + 2y + Dx*+ (y+6)x3 + (6y + Dx? + (v + 6)x + 6y

x* + 6x% + 25

6x3 —7x% 4+ 5x—2

(@—22+(B-33+G-—a-Db)3

x*+x3 +6x24+5x+5

(a+b—-2x)°-(a—x)3—(b—x)3

Xty =28 + ¥4 (2 - x?) + 20 (P - yP)

al+b3+c3—alb—c)*—b(c—a)*—c(a—b)?* - 4abc

a5+b5—(a+b)5

12xy — 2y? — 10z% + 30xz — 9yz

2x3(a+1) = 2xy(x —y)(a—b) +2y3(b + 1)

(a+b)?—(c+d)?+(a+c)—(b+d)?
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141.
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143,

144,

-2 -y+2)x+ty-2)+ -0y —-z+x)y+z—x)
+x=-»@E—-x+y)(z+x—Y)

64a3 + 48a’b + 12ab? + b3

1 — 64a® + 48a* — 12a?

3x%y — 3axy? + 3xyz + xz — ayz + z*

3a%b — 2ab? + 3acd — 2bcd

—6y? — 15xy — 23y — 35x — 21

_2x5n—1yn + 4x3n—1yn+2 _ an—lyn+4

a’ —a’b? + a?b® — b’

a’(b +c)? +b%*(c+a)®> +c*(a+b)* +abc(a+b +¢)
+(a? 4+ b% + c®)(ab + bc + ca)

(x% +3x +5)% + 6x(x? + 3x + 5) + 5x2

(a+1)2+b3-27+9b(a+1)

x2y? + x% + y? + 2x%y + 2xy? + 2xy

25a% + b%? —10ab — 10a +2b + 1
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147,

148,

149,

150.

x* —43x%y? + 9yt

81

3 +Zx2 4270+ 6
4 2
8x3+2x2+3x—1

+z-2x)3+@Z+x-2y)°3+ (x+y—22)3

64x° — 1

(a+b—2ab)(a+b—2)+ (1—ab)?
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. HR=0Bx-4)(2x - 5)

. R =2(12a + 11)(12a — 11)

EX=(a+2)3

EX=@-1)3

« JHx=3ax + by)(ax — 2by)
EX=@+2)(@*+a+1)

. FHRX=(2a +3b +c)?

v 3= (2a + 3b — ¢)(4a® + 9b? + ¢ — 6ab + 2ac + 3bc)
EX=x+y-DEEP+ Yy —xy+x+y+1)

10.
. Jix{=3(5a + 6b)?

. BR=(a - b)(x — y)?

v JRE=Ba - 2b - 2)?2

. R =(a+ b+ c + 2)*

. Jix=(a® + 3ab — 6b%)(a® — 3ab — 6b?)

. Jix=(a® + 3ab + 6b%)(a® — 3ab + 6b?)

v = (6x — 13)(x — 2)

VEE=0Bx-2)(x +3)

v EE=5x +3)(x + 3)

v A =(ax — b3)(bx — a®)

R =+ 2)(mx +2m + 1)
JER=0Bx-2a+ 1D +a-2)

R =x(x = 7)(x + 3)

R =% +10)(x + 2)(x — 2)

E= -3+ 2)(x2—x+2)

v EA=x(2x —3)(2x% —3x + 4)
ER=-DE-3)(x+2)
CER=(-2)(x? +4x+5)

v H=(2a% +2a+1)(2a* —2a+ 1)
VER=2x - 1D (- 2)(x? +4x + 1)
EE=(c+5)(x —3)(x? + 2x + 4)

. JHR=8(4x + 5)(2x + 1)(64x% + 112x + 57)
ER=32x - 1DBx+2)(x +3)

34,
35,
36.
37.
38.
39.
40.
41.
42,
43,

R =-3(x - 1)(x - 2)(2x — 3)

R =(x - 1D(x+2)(x*+x+5)
Jiz=(x — 1)(2x + 7)(2x% + 5x + 12)
Ji==3(a+ b)(c—b)(a+c)
FHA=0Cx - Dx+3)2x+ 1)(x —2)
JHA =+ 2y —1)(x — 5y + 2)
FHX=@+Dx+y—-2)

Jiz=x(x + 5)(x? + 5x + 10)
Jizl=(x? + 4x + 6) (x> + 8x + 6)
JA=x?+x+1)(x3 —x%2+1)
JR=02x -3y +4)(3x — 2y +5)
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65+
66
67+
68.
69.
70+
71,
72,
73

74

75+

76+

77+
78+
79.
80.
81.
82,
83.
84.

JRE=(x?" 4+ x™ + 1)(x3" — x2" + 1)
JRA=(x + 2)(x + 4)(x% + 5x + 8)
FEX=Qx+y—-2)(x+3y+1)
JRz=(3x? + 1)(x% + 3)
FAX=x+D@+x—-1D(a+x+1)
FA=-(x - -2)z-0)x+y+2)
JR=@@+b+c)a—b+c)a+b—c)la—b—c)
JRs=(ab + b*> + 1)(a? —ab + 1)
JRE=2(x% + 8x + 26)(x + 6)(x + 2)
FEX=(+1D?(x - 1?2 +x+1)(x%—x+1)
JR=(x — 3y)(5x — 4y — 6)
JFAX=By+52x+5y—1)

JR:=CBx + 2y + 7)(3x — 2y — 3)
JR=(5x — 6)(7x + 3y — 2)
F=(a-x+D@—x*-x—-1)
JFEX=(a—x)(a—x*—x)

R =02x - 1)(x — 2)(3x — 2)(2x — 3)
i =x(2x —3)(2x? — 3x + 4)

R = —3)(x+2)2x* +x — 2)
JFA=x+4)(x—2)Bx*—x+1)
FR=0x - 1D%(x+2)(x +3)

JFA=02x +5)x—-1)2x —3)(x + 3)
Ji=(x + y)(2x — y)(x + 3y)
Ji=(x — 2y)(2x + y)(3x — ¥)
JiX=3a(c—b)(b—c—a)

J7:=(2a + 3b + ¢)(a — 2b — 2¢)
JFR=b?%(a — 2)?
JFX=Ba—-hb)(2a+1)(a-2)
JFi=(a+ c)(b—-2a)(b-a)

Jix=(a —2b + ¢)?

R =1 (a +18b%)(a — 180?) B (G a + 3b%) (ca — 3b?)
Rk =2 (a - 2b)?

k== (2a — 3b)(a + b)

Jix=(3a — 2b + ¢)?

J7:=(3a — 4b)(9a? + 12ab + 16b?)

JEi 7= (5b + ¢)(25b% — 5hc + ¢2)

Jiz=(2a + 3b + ¢)(4a® + 9b% + c? — 6ab — 2ac — 3bc)
JR:=(11a — 3b)(5a + b)

Jizl=(6x — y?)(36x? + 6xy? + y*)

JR=2(x? + xy + y?)?

JREt=(x? + 2x + 2)(x? — 2x + 2)



85.
86.
87.

88.

89.
90.
91.

92.
93.
94,
95.
96.
97.
98.
99.

100.
101.
102,
103,
104.
105,
106.
107.
108.
109.
110.
111,
112,
113,
114,
115,
116.
117.
118,
119,
120.
121,
122,
123,
124,
125,

JF=x-D@xy—-x+y+Dx+Dxy—x—y—1)
JF=—(a+b—-c)a-b+c)a+hb+c)a—b—rc)
FX=xy+y+ Dy +x+y)

B =2 (2x - 1)?

A== (3a + 2b)(3a — 2b)
JR=Q2a—-b - 2c)(3a+ b + 3¢c)
=2 (2a - b)?

J7i:=3(b —c)(c—a)(a—Db)

JR=—(mn — 4)(m?n? + 4mn + 16)

FERX=(+2)(x? - 2x+ D (x - D> +x+1)

Ji:=(a — b)?(a® + ab + b?)?

JfR:=@Ba + b)(3a—b —2)

JR=(x — 1)(x% + x + 1)(x® + 2x3 + 3)

FEX=(x+y—-2)(x—-y+2)

JRzt=(2x? — 3y?)(2x% + 3y? + 3y)
JFR=(+2)(x—Dx+4)(x—3)
JFAR=0? +x+Dx*+x3+x2+x+1)
Ji=(5x% = 7x = 5)(x®> + 2x — 1)
JR=(a+ 4)(a® — 4a + 17)

JRE=(x? — 3)(x + 1)?

JRA=-3x% +y))(v? + z8)(z — x)(z + x)
i =@Bm? + 1)(n? — 10)

JiX=(mx —x+m—-2)(mx+x—m—2)
Jix=(ac+a—-b+1)(a+bc—b+1)
JRAR =0 +2)(x — 1D(3x% + 2x + 3)
Jfiz:l=(abc + 2a — b+ 3)(a’c+a+b+1)
JFER=—2x(x — D(x+ 1(x +2)
JRR=mn?+2n—2)(n® + 2n - 6)
J7:=—-18(2a — 3b)(4a — 3b)(a — b)

JRA =% + 15x + 24)(x + 4)(x + 6)
JR=(12x% 4+ 28x + 19)(3x + 2)(3x + 5)
JRA=-10(6x + 3x — 1)(5x — 1)(2x + 1)
JR = - D +x+2)(x> —x—1)
JFAR=02x - 1D)(x*—x+1)
JAx=0CBx—-2)(x*+x—1)

JR = +y)(x? +x +2)(2x? —x + 3)
JA=(x% + 2x + 5)(x®> — 2x + 5)
Jix=0Bx —2)(2x> —x + 1)

R =—3(a—2)(b—3)(a+b—5)
JRR=x?+5) &% +x+1)
JiX=3(a+ b —2x)(x —a)(x — b)
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B =-(x - -2)@-0)x+y)y+2)(z+x)
JFi=((@a—-b—-c)(b—c—a)(c—a—Db)
JRzt=—5ab(a + b)(a® + ab + b?)

JE =y + 52)(6x — y — 22)

JR=2(x? —xy + y*)(ax + x + by +y)

Bt =2(a+b+c+d)(a—d)

R =—-4(x - y)(y —2)(z — x)

JR:=(4a + b)?

st =—(2a — 1)3(2a + 1)3

R =@xy + 2)(x — ay + 2)

5= (ab + cd)(3a — 2b)

JR=—-(Gx+2y +3)(3y +7)

R ==2x""Ty" (" = y)* (2" +¥)?

JR=(a + b)?(a — b)(a* — a3b + a®b? — ab® + b*)
Jix=(@+b)(b+c)(c+a)la+b+c)

JRz=(x? + 8x + 5)(x? + 4x + 5)

JRzxl=(a + b —2)(a® —ab + 5a + b%* + 2b + 13)
JR =y +x +y)?

J7z=(5a — b — 1)?

JRE=(x% + 7xy + 3y?)(x%? — 7xy + 3y?)

Bk =2 (3x +2)°

Ji=04x —1)(2x*> +x + 1)
JFA=30y+z—-2x)(z+x—2y)(x+y—22)
JRE=(2x + 1)(2x — 1)(4x? — 2x + 1) (4x? + 2x + 1)
JR=(ab —a— b + 1)?



